3 maju
oLtz

=5 KEBHana Card Cl.[C Koo

Free Membership

MONTH/YEAR

5 otuztE

- 8| B 7e LA Mol FIEASSEL0] 48 10187 io] 3 ZH BTl Fi=HiEAEE FEe= 1
Etol2 Al

ot 7 U E|E

oln| S5t O1ElHI0 71 W3 51 B BIS(T 34 3 Aol ), SIIAHIA KHB0) ARSI BISS Ai2tE
il 10710l chefol 2 AVEL T

= SHXI 717 10U 0L ZHPAEE AFELCE Cif SItHIA 1iZ 48| Z2 Ft=sixI 71F

IS C1 Sl e

* 271 Ol 7= 3% 2 = Y7t SEISHHEIS S Sl 7IEAR SREN L8SS0ILt
O[3l Soff He!

* 71 S A A| AR Aaintki u\ A= omo HITA| S10I5HA]7| HERILICH

* KM LH& Sil= guﬂomlwww hanacard.coki/E AfTSA[7{Lt TZMIEZ 20| HigfL|C}

J *'%ﬂ 82 7130 YHo] Fuct.
OlAZ8YE 0§ Al HoI2] 418550 OFY + AZUC.
o "'HIWIt&(“’SOI% + X|C} 3%) L O] . O| SAFZH 2 K15 ML,
Y 213210498 2P| gHaUct
x OF T HHAY |0 270] 80] Qi< H Q.= 020t Zto| M Qvt

A2 ) A 249 0| SAIRR) SO 2 38
DO‘X’-U?“:‘ 71EH 01‘(* l| *EH 12N *‘X‘l4 EO\U UH:i 71‘0#7‘7 Ql Oo‘(’-
- 7 QH 0 omo| 90 rtHAr \H\rtﬂx-{()lgq/rgﬂ 07 Mm
i SR R EE R e

@ s e 2 D2 1800-1111




1. A5 Tl Mu|A
FTAL2S XHFOH| Al & 12 36 HAY
- XIS 0| §AI%) 303494 O|4f A] / & T} 151 35404 v
- 2203 $130] 19t YL B B9 H0IFUNF BT UG
- OfjAJ> BIZR.3 20F SHY 121 9 | > 18t 369 YL
AR BHR 21 20| WY 4| 5 24 8HEL, SHA (5 19 389 el
LRI B 21 10] Y 4| 5 B AT
2. UFE ol Mu|A
O|OIE, 223 A, RU|UIE 0|83 3% g7Y
- Xk O 4% 308494 0| A| / ¥ AJch 594 ot

iyl

- O|OtE o E2|gj0], &34 o ATy A, REIGT H|Q| / YEH T01FU HIQ| / OFE L AUTHIHY F|Ql

3. I gl Mu[A
gl 0] 83 10% H7eol
- XILHS O AU 30044 014 A| / Y AITH SHY! Ot
- OfE, oS U HE 3 4EH 701304 Tl

> M| A TG £H
[¢H]
XU 0| guH Ly =
XS 1LRE LUDK| FLQ| UAIS/L S 0|83 302 O]y A| M| A HIG
2) X 0| 8% 47 MO TS
=M XYM, gt Y EH, MEIIESH, 7| ZEIIE 0}
OIEIH], =A|7tA O] §5, HI/OIE QI MG U=
3) Y AGUL AGU| AGZH QR Ol 2t Xf2
4) ME|AE A O O 1098 LATIX|O| SUQ| AN 2/US Ag P SNHS
7|E0 2 LIYE|0, O A A FA H4E A AGZOH G MECHYFUOIM Kzt
5) EQIZIE(RH[AUTIE HANQf 7FEIIE O] g, LRIt AUE|0f MH|A X|G
6) 1528, 583,01 083U T Fo2 US| P2 UHET Y| AHga%0 Y

[&H1r 70| MH| A H|g0ke 7|2t
XX IIE NG TF F LSS YL HIF

* HY|H| : 2UQ|ZH-§ One Way(CB), mastercard 12F 25

—One Way:= JCB sH2l74Z0IM 01 7H58t SiLIZI=0| If HRHEULICY

HIIMHIA RX] L H OhY
+ 71E0[BA| HZER= ZOIE 8l Sls{El SO| H7pMH|A= 71E LiEA|(2017 018 092) 0 34 OfY S - HXIZH0| RAIELICt.
« CIRE, CHS 22 A7 et AR FIEAE S7IMHIAS HEE 4 USLICH
@ FIEA EE SIAHIA 2R HISAAIQl 59 - A - 2P|, MK, 382 S = 1 8ol ojol| Z5H= Aol e
=7et 49
@ 7IEMC| =H0l= RF AT YUZOR SIIMH|IA HAS SEEl0| WS S7t|3t 22
(E, T2 MIZUHE Sail S32| FAfet £7HIA HZo| 7158t Z2 Fi2)
@ LHISA| S S7pMHIA SA 812 10| 34 O ZRi, Birfio] RItMHIAS R[S B aig 71=0| ok QA7 of2i2 A2
* FIEAPHRTIMHIAS HZGIE ZR0Is F7IME|A HE AR, B LI S AIRAd ZA| SH|X|of ANSHD, 7HE TXjsH
SRl S| 71 Al A 01% 31 Ok Zakim, ol 71=0| 24 |X7E 024K £IIAHIAS HAGHs ZR0l=
67l TS o2 JHEDX| o SLCE
# LTI - O[SHIBMN, LB, FXI2EH(e-mai), FCHE SXIHAIX| Mo|A 5 SHR|

SHIZH| X 7|EfHY
+ 3li2] 012 Al(GHRIMOIE 72 2L8l) 0|SHUSD) 71 742t Aol 20| KEBSILI2H FIZA| TS t=g3 Kot 2,
FHEUEAT Rat5t= ZHEME 242 (One Way(JCB)/mastercard 1.0%)2t SHAZHET H Fatoh= SHRIAHIA 402
(AS71= 02%)2 Zloto] #st2 F gL/t

—3li2] 012 A B3l A=
*3H2] 01 A| F739 = (7420|3132 X TAIE H=8') + AR|SHEAR? + SHOIMHIARSE?
1, TSRS : 0| KEBSHISS 2R 1A TS DTS
2 TH|ERHEASZ = (7200|315 X SAEEHE 0[84-2S{0ne Way(JCB)/meslercard 1.0%) X T
3 fielMlAs42 = (7{Hn[eFY X SHRIMHIA SR E(ARIIE 0.2%) X TS D=8

Metoi=g

+ afl2l Z7RIE0IM 25t74ef Al (DCCR7} 427t Halk|D 2 SXISS} EE 0|31 HefstAl7| HRILICE

« ZH| 7} 77 (24| S DRIAIZKIBAI) 01 ZH| Azlol U E SH0l chishit= 2| AZE i 7 el ARl wt g Z3=/X
F510] AHZ 2| & 4 9lon2 [OISIA|| HIZLICH

+ ISR AT 02z O SAHETO[X| / 2HIY SUIM ZAIZA| E= 7L UF(EZER)S Soi S Zrl7t 7HsEILct

* IR SiL7I= ZH0|X[ 22447 =0[@OHH-ZAONH] & 2Htel W AMIE] &) ZTSAL| HiZLICE

A EH3| Ao H| 2018-Cla—11165(2018,09.06) / &40 L-18-1325(2018,08.27) / VI 180903-32



